Simple Harmonic Motion: Quiz Practice Name

1. How will each change affect the period of a pendulum? Justify your answers.

a. Increasing the length of the pendulum. 2 7
b. Increasing the mass at the end of the pendulum. >em e
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2. How will each change affect the frequency of an oscillating spring/mass system? Justify your
answers.

a. Increasing the spring constant.

b. Increasing the mass.
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3. The period of a spring/mass system is 1.2 seconds.
a. What will be its frequency?
b. if the mass is replaced by a mass which is 3 times as large, what will be the new period
1 of the system?
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4. The position of an 0.2 kg mass on the end of a spring in SHM can be given by the equation x{t) =

0.5cos(4t). 7 P - [:§N7-
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a. What is the frequency of the oscillation? £ "{: G627
b. What is the spring constant of the spring?
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5. Agraph of the motion of a mass in simple harmonic motion at the end of a spring is shown
below:
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a. What are the aniplifude, period and fre"quen'c'\'r of thé“s'ysteni?
h. Write an equation for the position of the mass as a function of time.

c. Use the equation to find the position of the mass at t = 1.2s. Does your value match the
one shown on the graph?

d. What is the ratio of the mass of the object to the spring constant of the spring?
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